162 Market Index

AT AL
2488.18 811.11
(+1.51) (+1.75)

=2 E_| e s?_l--% (@)
3.710 ‘ 1296.90
(-0.034) (-3.90)

F=2: 2 20,0002 /15 1,000

SEHS M2 7150111 SXPMIE| (02)721-9861 Oi OfAl, LIE 7| R=HIER

Mm-7{HAEz ‘

S Qlmet BE

=

SUS LHEUCZ D= EX|
=0]-55} 0| = TR = 0f212

44 7ol FZ1LH9 R §10] XTI
2024st: THSkrslsgAd (s
SEFE7HoIIs i E w=abd B R
AT ()28 2 /AR, Fus
Ee 2 HiH S StHrN=87}
ZH L2t (ZH7|AH16T)

16 F=2 8478 AER|FE 127970 Al
ok =dll 4~50] LAI5| XA
C}. O1H AJ&o] Aok =482 502t
4588HOZ, 0] 5 A & NpA2
158197427 50]IC}, BAIE2 10.6% (5T
30938)2, AsiECH =0k Zio2
olAFIOL HIs=S o2 RAIRICE

20245MA% 5 EAIRIEE F
= Boluth 4= Old EREE

B0 wSFO Atuls Z4

—

2ol w2t 4] EHEg SRS
H, Z1% IHoA T TS
2 HEES FHE ¢ Qs FY
Ho|z=9] Bekg 1127 SAIRICHE}
M “w=HFoA SiaE0)al 7)1 A
Ol I8 BACE EXEOZH 11
S5l 1K9] FASHo] =20 H=
= oy a1 Ui

TARE Tha ORIt 877 b
2L} 2ol A 5 EA 718 2490
LM EBS SR WAIES 28] 4250
A 2ol AR COH &8 A
Al 'de= =0]-428-F o] G0 Tl
A= =JATH BA3ICE 53] =019
Je FFEFS FTE0] 1348 OZ H
WA HoIFH Al 52 =8,
142802 HEHO] Z3lE Sof 9
HOI7HETHE QT O RITIALE
BS S WANHE H713ICE Qof=2)
| sHEC A OfEa, Sofl g &2
Ol y7Iok=HIE A O 2 o ML

=
g 115 2= 7R, O]aho] tha
Felg 4 U= H7He LT

AT OJFA ASH7IATARS
‘SRR Q] Ho) = ol Ako] A =%
O} =5} W5 S HEEE SR
o PO R BRI HSZ S8
E 7Hsd0] AR 1 7RI

A5 E=Z8 thae HEET}
7|6h= HIszobALL o1 Al EA, &8
WEAE GA EXE] AeE 7
A HYRE= Q7 ol2h “4=8}oj]
A SR A BEl O 2= 0]3k40] &
R FEESE A S5 AT
Ol2}al of|AF3ACE.

SHH, 7H=E EBS (IAIES A=20]
51.1% A5SH50% AQ0]53.3% ATE
=AF50% & & TS0 II2A] 50%
THE AR

[OIHEl 7|X} Ihj@

o133 51591 OlAtE YT
=E TR SRt

sl 128 33 R0k SEF
H 289 © AISHEEAIF SI1F0] &}
7] E2AEs| SlFoz S0k
Ch 2 M oES edAs tEs) g5
o ASal0F & R7| ARSI A
LSS, (ZHT|AL 23)

162 238tsl= A9 ot oe
oA ST RFEALS (S1FF) A3
AL 519] 2 OJALSIE Pl AL 23

ACk

w15 | SRNEILE
NHZEAF 51 AYSE ¥ KB
SR 31 A% A AR
% 31 a8 ® Z19eso] o
g2 S5} 257 KBES SI9%
ESFOL} TAF INFE FREHHA
2% 590| S22 Ak,

oA

| ASEHSE A

1T- O

e

OAElE 88 © 4l

NSip=x=elp
£ Al150] SRS E

ot S
SH2 HF

a9}
A}

Ve 3%

o
LI

S PRIIRIE )BT,
230 PARKE oINSl £
SHAS S8 o] thet Bye o
slot st 5RYS HEoR o3
Aiglo] Bt SOk htal, Thl
o) B0 KHE 28 Aglo] W
ol 7lofer Bt FRICK T
Sisja
2L Q=27 Y] B HE
£ 9I3t AIRIEEIS NEE ool
Ol 237} S} HESO] Bl
FE0IM £ WA 81 Kgo) &
Qe £ AR O 128 197
Q71 AJAFSHA L.
/0|58 7IX} Isy2665@

&3 9L71A] 119H909T) 5=
A3l Z7] tiH] 2.5% Zo]
A F47] 24.3%7] £33
1712 2] A, AP o] FH <k
HIR7}E ol 2| Y2 o] i

228 W Sok TR RS
A Ao B2 Pzt 22
B ARER AT W13 St
ZaHoE Z7ksh 719t 4
A} I Ol 2e RS Yol 4

2133t
ShRIEE H2 B AEE S
7} P4E ESE)E WEES Kol

AT}, Ed] = AER2 VIR S
A ozt R A ga 4 59
JFoz AAE0] A LB
ACE.
oL AIF2 MY --FXIHH
S FE Sy

162 AR =ARIA| SNETIAIZ]
o = S5l 195H 027K =
2 AZ0] 558 AR B
966TH50000H 2 FE 7] thH]
36.4% (108EH6000TH) S7130C}. A
el A7 A MIA A7 1A AR SE
£ 61.3%0] HlotH JAE2 =5}
31 UTE =W A7IRF AR B9
71 AR LT

=0l 9E7IA = S5 7]
A= 11PR000T 2 & &7] thy]
2.5% (112137020H) ZASCE ¥hH
U7 18RS 28let =4t S8AL
THilE=8.2% S716H F7IRF A&
I} FETHE 97|

Ol EAl= /7R B3 Q1=
ghot =2 7HEa F5 A=
40| IE ACZ YAI=EAIE)
AT

U A7IRHAE B 9= 50
THHE EoIRA F71AF 54 Q1
Zeh= HRlo] 53 &=o]rh

EARASE HH 20226 715
LUt 719 66% 7+ Z=FE
(ORIIE- A FE-CIAITHFE- 23]
28 3sho] AFotal QU

T=E AS HE0] =2 6l
Qo A9 RfalofA SEE

|

SU

= LH 7| Xt O Ch

CHRf:CH

119t 119k
9841 7611cH

’ 2019 2020 2021 2022 20234

o8Iz b
XH2/7}0| QL OE{ A4 =

/SEOI0N]

4 QAT LU S8E S
oA SEE sfoket= AR S
O] ACk

[HYA AR NS 55
BlO] A &7 Ql=Zg} =0 Byt
O] et 1060] 9 FEFEQ]
B HAANE E0lg = A=H
g A3 Wi X &
ZU'ol2tal Tt o]o] “F7h Je
SHE Pl = HISRHO| S A7
Olz}tal HEUL.

=3 7€ 715 Aol IRE A
7|RF ER7)%= 2491300001712 T
& AlklslH 1718 2th9] A7 1R}
A3l ALk T R0 wek 2
& W7 718 ®7IA e B
Al= 3u) 0)AF ZJOI1= LIERAT Q)
Ch Q¥ 55 3871 712 317
O, BAR2 338017 LA = &
A|&J0] F=t B (18.90H)off HI&H 4
HIAFSCQ] FH0] =Lt

T2 B4l Z2Rlseolth 3
B HEF AQOZ AIE 156
A THIsSE 58 ARRIAREO] S350
C}. O] nfZ0]l AHIAR= S AR}
g0l HlgOILH ZAERAo) gt &
HE #5 Art

HIR DA 7ML R B
F4E AIE 500 FHEs U3l
=3 (3ol A1)

/LS 7|XF ysw@metroseoul.co.kr

uwslul)aaw Q} THB=HEZ FA

A F DR ST ERH QSRS | A PSR, SR 2 M A 2P AY| BIE 221t TS
D HA& B & R In T 2 ofgol A9l A U

ATHSZA, 01281 ‘P= A5 O1F0] | A 20 X1E OFX| MEE, S Ho| A 01T, 2TA| A2 TE) §IEQIE S
“TB1 2 STt = I k|0l 23tk # gl Al




